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01 PIIRF=EE 24,000 0 24,000
O SM ASHE SO Al
24,000,008 * 102 24,000
= 2,000
= 12,000
NHSSRESAY Al (ZHI) 160,000 0 160,000
= 80,000
= 80,000
402 BIZHXH 0| 160,000 0 160,000
= 80,000
2 80,000
01 PINX=EE 160,000 0 160,000
O NHSHHAAL Al
160,000,008 * 141 160,000
= 80,000
2 80,000
S48 RIDINEY B USN AXI| 23 9,500 0 9,500
402 BIZHXHE 0| 9,500 0 9,500
01 QIAT=EE 9,500 0 9,500
O =42 RIS }EB SHAX)| &
2 3,800,0008 * 5CH *50/100 9,500
ZESRTYSRE 29 30,973 24,732 6,241
ZESRTYSAY 29 30,973 24,732 6,241
101 2124l 10,433 4,212 6,226
04 JIAH2EZXESS 10,433 4,212 6,226
O Z27 ZYSEH 29 10,433
93 32,9808 * 2502 * 1% 8,245
— FE4Y 32,9808 + 42 « 1Y « 128 1,584
SR 32,8502 * 1% * 128 395
- A= 17,7802 * 1% « 122 214
201 Yer2 ) 4,535 4,520 15
01 At el 1,000 1,000 0
O IERTYSLY 2% +84)
1,000,000 * 1Al 1,000
02 IB2YH| 3,535 3,520 i5
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2N sgII=HH
M ZlASOHH
ool EFPBYSEE 29 (cHol a2
SN HB SR (BIH) - A - B S 0l &b S D=2
= = FAG - BES &5 Ofl & 04 ree
O ZEZ3EsEE 29 HEASY
1,300& * 304 * 65& 2,535
O =24a=2l & AM&sXHl  100,000& = 108 1,000
206 M=l 16,000 16,000 0
01 M=H| 16,000 16,000 0
O =28 & o4& 7Y 400,000& * 405 16,000
SI|sHe 378,424 268,481 109,943
Ied=s Jl=E=2 s KH 172,924 189, 131 A 16,207
BSESAE MIls 2SAE 20,064 12,890 7,174
201 Let2g| 14,914 8,040 6,874
02 22234l 14,914 8,040 6,874
O ASAEE 8 WH2Il= 22| 7,914
— =l 1,300& = 21 £ = 204 * 90 4,914
— ASAEE M3 250,000& = 123 3,000
O MII=ASAEE AZEHIRXIL|
700,000& * 108 7,000
206 M=H| 5,150 4,850 300
01 M= bl 5,150 4,850 300
O A&t ASTHHE 2ETHE 1,000
— ZEE TN 2 Jsd M=
20,000& * 108 = 53l 1,000
O DY EANL2ANE 3,000
— tsY9= MUl HlERY
100,000& * 108 1,000
~ DSESHHE Z22Y
500& * 4Z * 500K 1,000
— IsAlE B M 100,000& * 108 1,000
O &8XE 4A2F 20 Xt 1,150
— ASE XY &3 10,000& * 2568 250
— AEL YHolSYH M=
30,000& * 5& = 63 900
MBS 0|8 SEF0E M sIES 2,400 7,400 25,000
206 =4l 2,400 2,400 0
01 MHZ bl 2,400 2,400 0
O ZZHa 232 2,400
— DALY =7 30,000& = 4004 1,200
— DALY AR 60,000& 2074 1,200
MAZ EBF £l =4 69,170 46,800 22,370
101 14| 24,000 0 24,000
04 JIZtHIZ2E2NEE S 24,000 0 24,000
O 2 i A 2 SIIAH 28 22l URY 12,000
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SN

Pl
PSP j|

C> A]H‘:ﬂ'
Chel: UBiE J|&E2 BE XK (cHol a2
SN HB SR (BIH) - A - B S 0l &b S D=2
- T o= ° - [EEMREECES &= 0:”/‘l|_% WS
— o2y 40,0003 * 250 « 19H 10,000
- FE==H 40,0003 *» 50= » 1 2,000
O ZaM AE R Y
60,000& * 100& = 19H 6,000
O ZJc §€ &cl Ry
60,000& = 100 » 1H 6,000
201 Let2d| 16,720 10,400 6,320
01 AtE22lHl 7,500 2,000 5,500
O gAE:E 288 a2 HMH
500,000& = 2042 1,000
O QIS BF 2 (XLUSE)
1,500& *» 50000 * 63 4,500
O Zd4 AlE oteA Xt
2,000,000& » 1& = 10 2,000
02 =234l 9,220 8,400 820
O ZH4 A8 IS 50,000& = 128 600
O BN AY dEeia
1,700& » 202 * 120 = 1= 4,080
O 2 AldEs 2 KX 2
2,000,000& * 22| 4,000
O Z0lg A2 |sX&el 540,0008 104 540
206 M=H| 22,150 14,400 7,750
01 M=l 22,150 14,400 7,750
O 2 212812 500& * 4,000=2 * 33l 6,000
O HETHE(R) 8,000& » 200& 1,600
O 4ENMZ(AME AE)  1,250,0008 * 43 5,000
O Z THuH &Yl 3,500& » 300% 1,050
O 2 M "Iz 10,000& * 50 500
O Z MuhE 32 & ZE 1,000 = 3,00004 3,000
OB Me B2l 45017
20,000& = 58 = 5JH 500
O AKX 222728 =5 500& = 4,000 2,000
O£z &k 500,000& = 43| 2,000
O 2 Holls & s 500,000& * 14 500
401 A &HIZL 2048 6,300 22,000 A 15,700
01 Al&H| 6,300 22,000 215,700
O =3t 228 HE A4 45,000& * 140m’ 6,300
=3t K 81,290 0 81,290
101 el 40,080 0 40,080
04 JIZtHIZ2E2HEES 40,080 0 40,080
O =3tIHbH ek o124H] 36,880
- &=EY 40,000% » 89 = 203 6,400
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A Jl=HdH

M = j|A]Hm
Shol: Dstgs J2EE 2E XS (cre @ el
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
— =200 2 84 =g
40,000& * 1098 * 243| 9,600
— HAEHA 40,0003 + 69 * 25 6,000
— X=MI| ®el &
40,0003 » 4% » 10 1,600
— S0 OHE EMIl =Y
40,000 » 6% » 20 4,800
— =2 Z2& €I 40,0008 * 49 * 15 2,400
— ©0f OHE R &H
40,0003 » 69 * 123] 2,880
- 23 Y &Y 40,0003 = 8% * 10&] 3,200
O B ZHE M=/24/AT 012
40,0003 » 49 » 204 3,200
201 23| 6,450 0 6,450
01 AtR2t2ldl 3,450 0 3,450
O =3l BEE M= =240 Xt
400,000 « 1CH = 32l 1,200
O =3 HBHEHE Xt 2,500m" » 900& 2,250
02 =234l 3,000 0 3,000
O 23 HEE 24 ] 3,000
— A2E 24 gy 3,000,000& * 14 3,000
206 M= Hl 34,760 0 34,760
01 M=Z=Hl 34,760 0 34,760
O 2382 FL(U=, EYH, =)
5,000,000 * 14 5,000
O =SS E L HIZ2FRU(ME, ZEH
5,000,000 = 14! 5,000
O =3l 2+ 4,000,000 = 14 4,000
O =l s<2(4SH, 42Hd, LA
s) 4,000,000& = 14! 4,000
O =3 2Hl ME F(2LLE, 2aes S
) 1,500,000& * 14 1,500
O =Ml A2F AWK 2 (AHO0IZ, X
=U S) 8,000,000& * 14 8,000
O U=Rstz M =M ¢
33,000& * 2004 660
O =M 2Al8 (88, 34 ) M2
2,000,000& * 14 2,000
O =3HH b E HZ HE R(0IME S)
4,000,000& * 14 4,000
O BSHEW 4T 7(+4, 1= =)
600,000& * 14 600
SHEENE L dASE23E 205,500 79,350 126, 150
A& I3EAE A 146,000 69,350 76,650
201 et 100,400 5,350 95,050
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M s€lis4dH
M sYol=He

&t sHEENE ¥ dAEELSE (el &)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 AtSR22/Hl 4,400 0 4,400
O =atdAF=T S
7,000& » 2021 » 10& 1,400
O =3tdAE =4 BT 2H ES
3,000,000& * 14 3,000
03 #AZEHI 96,000 1,600 94,400
O 2= ME(2EH, EHIE S)
1,000,000 * 33 3,000
O Ia&sE &35 24 300,000& = 108 3,000
O #HAIE dAIZ X 170,000& * 2008 34,000
O =8Nz 2 =2 W&
100,000& = 105 1,000
O =3 HAlzl e g8 500,000& =+ 102l 5,000
O =3&E 0IsXHE X 3,000,0008 * 14 3,000
O =stdAlz 88 &3 7Y
5,000& = 1,0000H 5,000
O TAZ UR =8 &8 L (BHE)
18,000,000& = 14 18,000
O 33 =82 M 2 19,000,000& * 14 19,000
O =3 ¢td FHAl 5,000,000& = 14 5,000
206 M=l 12,600 34,000 221,400
01 M=H| 12,600 34,000 A21,400
O =238AE =4z 7Y 12,600
— SE&, NHEEEO, HE S
200m* * 10& = 5,000& 10,000
— =2 HAlztE 2
26,000& * 100 2,600
301 Ypt8azg 3,000 0 3,000
10 BAIAHIEA S 3,000 0 3,000
O =s=H &4 B4 100,000& * 308 3,000
401 Al&HI LS OHYI 30,000 30,000 0
04 SHAL2-&HA Al & H| 30,000 30,000 0
O stexg= & 15,000,000& = 14 15,000
O =3t 29 M&E 2 15,000,000& = 14 15,000
tetel= dd& ==HM dgd =4 43,500 0 43,500
201 et 6,500 0 6,500
01 AtE22(Hl 1,500 0 1,500
O ZTHEH =X 2 Xty| 500& = 3,000m’ 1,500
02 =234l 2,000 0 2,000
O BAESE ZBE 2 2 IS 24
2,000,000& * 14 2,000
03 A2 ZHI 3,000 0 3,000
O Zgd 2=M 2] 3,000,000& * 14l 3,000
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SN SYIIEHE
PSEE j|§]|_|m
G =YEIHE U MASTY o mg
_ _ _ Muo
SNBSS - HRAY - BHES Aboy e HIRZE2
206 W& 4,000 0 4,000
01 HEH| 4,000 0 4,000
O BHE M2 PA(2AIR, HIg, 2EX
s) 4,000,0002! * 14! 4,000
401 AIZHILLCH] 33,000 0 33,000
04 B ARIRIAIE ] 33,000 0 33,000
O BUEY S OIIFAT X4
3,000,0008 * 141 3,000
O &% x82 4%
10,000,0008 * 34} 30,000
HUTMAEH ST 2 16,000 10,000 6,000
201 LByl 4,000 0 4,000
01 ALRZ2lt] 4,000 0 4,000
O BYHMAEH B RAEOL 2 H B0
2 4,000,000% * 14! 4,000
307 2120l 8,000 10,000 A2,000
02 PIHYNBE 8,000 10,000 A2,000
O HLRMAEH 29 12
8,000,008 * 104 8,000
401 AIZHIL 2O 4,000 0 4,000
01 Al&H] 4,000 0 4,000
O BUTMAZHBSSE A2
4,000,0002 * 17§24 4,000
HH 2 YA (SIS HE) 92,600 95,660 A3,060
ol 2| 11,100 1,100 0
ol 2| 1,100 1,100 0
203 HRFY| 1,100 1,100 0
01 IR YR =AY 4,200 4,200 0
O JIB2SYYLETI(AF)
350,000% * 122 4,200
02 HRAIIAYRETY| 1,320 1,320 0
O SS28 MSHs HYIILE 2232
gl 40,0001 * 33% 1,320
% EASYARETY 5,580 5,580 0
O BN2YYLETY
(350,008 + 5,0008 * 3%) * 128 4,380
O JIe2YBA RH2FARSAY|
100,0002! * 122 1,200
| =2 81,500 84,560 A3,060
SEXNTAY Jl2dY| 81,500 84,560 3,060
201 LByl 23,000 26,060 3,060
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S| S M
S AR (SYIISHEH)
o= 2|
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ao il ot o
01 AR eIl 15,000 16,380
O Yersgt| 15,000,002 15,000
2 T2 8,000 9,680
O 2ze2 ¥ HAl 8,000,0002 8,000
202 01t 58,500 58,500
01 2Uhoitl 46,500 46,500
O Y= oYl 46,500,000%! 46,500
02 2o oit| 2,000 2,000
O SHSAANTAT FHUOHY)
200,000 * 5% * 128 12,000
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